gz "

&F

Ans.

PART : CHEMISTR
B1 gm of Al when made to react with 128 gm of oxygen forms __...._gm of Al20s,
(153)
(L.R.)
458l + 30: » 2AEO:

8lgm 128gm
=3mole =8 maols

3 1286 B
— =075 — =— =2.667
4 16 3
4 Al = 2 mole 803

S TmtaEAl= -E %3 mole of AkO:

=1.5 x(54 +48) = 153 gm

Minimum meilting point among group-14 elements comresponds to atomic number :

(16
(3)

(2)14

(3) 50 (4) 32

eC =4373 K ; 145i =1693 K ; 3G =121B K ; ssSn =505 K

What will be effect on pH of water when it is heated 7
(1) Increase
(3} Remains same

(2)

AsTT, kw1

L opH Y

Match the following list-l with List-ll :

List-1 List-1l

ia) | Bronze (1) | Cu+Zn

ib) | Stainless Sted | (2) | Cu +5n

ic) | UK silver coin (3)| Fe +Cr +Ni
(d) | Brass (4) | Cu+Ni

(1) (a) = (2);(b) = (3} : (c) — (4) : {d) — (1)
(3)(a) = (2) ;{b) —» (3} ; (c) - (1) ; (d)

(1)

Bronze — Cu +5n; Stainless steel — Fe +Cr +Ni

UK. silver coin — Cu + Ni; Brass — Cu + Zn

» (4)

(2) decrease
(4) pH first increases then decreases

(2) (@) - (3): (b) —» (2) ; () —» (4) : {d) (1)
(4) (a8) = (3); (b) — (2); (c) - (1) ; {d) — (4}

S-1: v vs Atomic number gives a straight line graph.
5-2 : v vs Mass number gives a straight line graph.

(1} 51 true ; S-2 false

(3) Both 51 & 5-2 are true

(1)

(2) 5-1 false : 5-2 true
{4) Both 5-1 & S-2 are false

Jv vs atomic number gives a straight line graph.
(Moseley's law)
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6. 0.01 mole of an organic compound containing 10% hydrogen on complete combustion produces 0.9 g
H:0. Molecular mass of organic compound is .......u.
Ans. (100)
Sol Let organic compound be C:HyO:
Apphving POAC on H.
0.01 xx :{E | x2 - x=10
L 18 )
-];[-]— *MM =10 A MM =100 u
100
7. Central atom has d* configuration in which complexes :
(i) [NiFsF (i) [Fe{CN)sF {iii) [Crz{ CHzCO0)a( Hz0):]
{iv) [Mn{CN }sF (v) [FeOa™]
(1) (i) & (iv) (2) (i) {3) ii) (4) (v)
Ans. (1)

Sol. N+t :di:Fed*df:Cr:d? : Mes: d* : Febf 2

8. By using relation

AG =AH-TAS

Which of the following is incorrect for spontaneous reaction at a given temperature
(1) AH =0, AS =0

(2) AH =0, AS <0

{3) AH <0, AS >0

(4) AH <0, AS <0

(2)

AH =0 & AS =0 = AG = 0 at all iemperature.

&7

9, Vapour pressure decreases by 10 mm of Hg when mole fraction of non volatile solute is 0.2. What is
the mole fraction of non volatile solute if vapour pressure decreases by 20 mm of Hg 7

(1) 0.4 (2) 0.1 (3)0.8 (4) 0.2
aAns. (1)
Eﬂi = Xt
Pa
(Py—Po)  Asaue 1

(Po—Ps)s X 2

3002

20 Xgueo
", Msoiute?z =04




{Resonance’ | JEE{Main) 2025 | DATE : 23-01-2025 (SHIFT-2) | PAPER-1 | MEMORY BASED | CHEMISTRY

10. Which one of the following plots represents zero order reaction 7

g 2
"~ 2)*
t b
g E’
(3) © (a) ©
T i
(3)

87

For zero order :
Rate =constant (Straight line parallel to X-axis in rate vs t graph)
C: =Co— kt (....... with —ve slope in conc. vs t graph)

11. X2¥ g = Xaig +—;' ¥ 245y The correct relationship between Kp, o and equilibrium pressure P is

1-.!'2]31:'2 ul."ZPEI.I'.E
(1) Kp = (DY Kp s
(24 11!'3“ {24 -:1}3"'2
S als V3 o U2
P a- P
(NKp =P (3 Kp =2—
(Z+a)2(1-a) (24 a)V?
Ans. (3)
1
Sol. XX g == Xaig + S Yaug
t=0 a 0 0
t=teq a—x X x2

For a mole, x moles are dissociated

For 1 mole, = moles =« are dissociated
d

X =an
1
XN g =— Xzig) + E Y 2iq
Att=tq a— aa Aot %
et romss - oyt ST
o Lo SR ) g
Moz =3 > &.‘. 5 |
Pag = 20l _(Q-aP

(4, 2| 1, &
a:.142. }2



T i gy g =)

U ki o el i

Sol.

£ 7

B

Py = aeP _ aP
g _ |- ll‘E [ ] _l‘E
ai. 2 2
Pty = (acf2)-P _ {al2)P
) |' i | B2
2 1'_2 | - 2
| ( =, e
| i P .i 2
1= | le= |
KF":I:,Iili"':l:'r‘::r]-ll1 :l'- +2 -'H‘ ‘2"
Fa (1—wjP
1.2
\ 2
" a. gl pl2 o312 pu2
o =

C2ralila)  (2iai0-a)

Statement 1 : For a particular shell, maximum number of orbital is n?,

Statement I1: For a given subshell, number of orientation lies from — 7 to +¢ including zero.
(1) 5-1 and S5-11 both are comect

(2) 5-1 and 5-11 both are incomect

(3) 51 is correct and S—11is incorrect

(4) 5-1is incorrect and S-11is comrect

(1)
For a particular shell, maximum number of orbital is re.

For a given subshell, number of onentation lies from — ¢ to 4 including zero.

Calculate the following E# values of given half cell.
Efg:ag =0.BV

E2: 20 =076V

=034V

Ep g =—2-36 V

Then which of the following will have the most negative value of AG¥
(1) Zn/Zn?+|| CuE4Cu (2) AgiAg™ || Mg= Mg
(3) Zn/Zn?+ || Mg? Mg (4) Cu/Cu*~|| Ag'iAg
(1)

EY i =LAV B s == 336V By =16V EL =026V

Greater the +ve value of EZ.;, more negative will be AG2,
a-Helix protein & [i-pleated belong to which of the following structure of protein.

(1) Primary (2) Secondary (3) Tertiary (4) Quatemary
(2)
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17.

(i} MaOH
High termp & P. KCrD, X
muareo A ey » (B) Predict (A) & (B)7

OH OMH OH OH
@EL, OO
OH
OH
OH OH OH
OH
O cl

(3)

Rate of solvolysis of the following compounds is.

Br HzBr Br
(A) ij (8) (©) (D) )\r’
Br

(1)a=C =D =B (2)C =B =A =D (3)C =A =D =B (4)C A >B >D
(2)

R—CH=0 —:‘E-x R_CH{DH
7 OH

Statement- : For HCHO relative rate is 2892 due to small size of 'H' atoms.
Staterment-l : For CCECHO relative rate is 2000 due to —| effect of ClL

(1} Both Statement | and staterment Il are true

(2) Both statement | and saterment I are false

(3) Statement | is true but statement Il is false

(4) Statement | is false but setement Il is true

(1)

{0 , NalOH 0 NaOH
————2— (A) — » (B) —ol2 » (C)
HCL 0e-59C {ii) HCI (i) CHiCH;Br

CaHs0
(it} Hz2O

no. of sp* 'C' atoms in (C) is.
(4)
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19.

Ans.
Sol

21,

An unknown compound X' that consumes two moles of Hz, X on oxidation with KMOs / H® gives

following products.

CHs— COOH, CHs— (= Gy~ CH—CO0H + CHs— [ —CHs

Find no of & bonds in compound "X’
(27)
CHz— C— CH;—CH:—CH
L ——1
C
e
cHf’ HsC CHa

O

Statement-1 : Melting point of phenol & alcohols increases with increase in carbon atoms,
Statement-2 : Phenol and alcohols has higher melting point than ether and haloalkanes.

(1) Both Statement | and statement Il are true
(2) Both statement | and statement Il are false
(3) Statement | is true but statement ll is false
(4) Statement | is false but statement Il is true

(1)

L2 S
m Znro A

Product A 1s.

(1) DHC/E\/\/\H/\CHG

o

:3:@<\CHD
CHO

(4) HDDC’E\/\/\“/\ COOH

0
(1)



